

## Research Article

# Congruences Involving Special Sums of Triple Reciprocals

Zhongyan Shen 

Zhejiang International Studies University, Hangzhou 310023, China

Correspondence should be addressed to Zhongyan Shen; huanchenszhan@163.com

Received 3 December 2023; Revised 12 January 2024; Accepted 17 January 2024; Published 2 February 2024

Academic Editor: Shaofang Hong

Copyright © 2024 Zhongyan Shen. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Define the sums of triple reciprocals  $Z(n) = \sum_{i+j+k=n} 1/ijk, i, j, k \geq 1$ . Zhao discovered the following curious congruence for any odd prime  $p$ ,  $Z(p) \equiv -2B_{p-3} \pmod{p}$ . Xia and Cai extended the above congruence to modulo  $p^2$ ,  $Z(p) \equiv 12B_{p-3}/(p-3) - 3B_{2p-4}/(p-2) \pmod{p^2}$ , where  $p > 5$  is a prime. In this paper, we consider the congruences about  $Z(\lfloor (p-1+N)/N \rfloor)$  (where  $\lfloor x \rfloor$  is the integral part of  $x$ ,  $N = 1, 2, 3, 4, 6$ ) modulo  $p^2$ . When  $N = 1$ , the results we obtain are the results of Zhao and Xia and Cai.

## 1. Introduction

Let

$$Z(n) = \sum_{\substack{i+j+k=n \\ i,j,k \in \mathcal{P}_p}} \frac{1}{ijk}, \quad (1)$$

where  $\mathcal{P}_p$  denotes the set of positive integers which are prime to  $p$ .

In 2003, Zhao [1] first announced (see [2], Corollary 4.2) the following curious congruence involving multiple harmonic sums for any odd prime  $p > 3$ :

$$Z(p) \equiv -2B_{p-3} \pmod{p}, \quad (2)$$

which holds when  $p = 3$  evidently. Here, Bernoulli numbers  $B_k$  are defined by the recursive relation:

$$B_0 = 1, \sum_{i=0}^n \binom{n+1}{i} B_i = 0, \quad n \geq 1. \quad (3)$$

The first few Bernoulli numbers are  $B_0 = 1, B_1 = -1/2, B_2 = 1/6,$

$$B_{2n+1} = 0, \quad (n \geq 1),$$

$$B_4 = \frac{1}{30},$$

$$B_6 = \frac{1}{42}, \quad (4)$$

$$B_8 = \frac{1}{30},$$

$$B_{10} = \frac{5}{66}, \dots$$

A simple proof of (2) was presented in [3]. This congruence has been generalized along several directions. First, Zhou and Cai [4] established the following harmonic congruence for prime  $p > 3$  and integer  $n \leq p-2$ :

$$\sum_{l_1+l_2+\dots+l_n=p} \frac{1}{l_1 l_2 \dots l_n} \equiv \begin{cases} -(n-1)! B_{p-n} \pmod{p}, & \text{if } 2 \nmid n, \\ -\frac{n(n!)}{2(n+1)} p B_{p-n-1} \pmod{p^2}, & \text{if } 2 \mid n. \end{cases} \quad (5)$$

Later, Xia and Cai [5] generalized (2) to

$$Z(p) \equiv \frac{12B_{p-3}}{p-3} - \frac{3B_{2p-4}}{p-2} \pmod{p^2}, \tag{6}$$

where  $p > 5$  is a prime.

In 2014, Wang and Cai [6] proved for every prime  $p \geq 3$  and positive integer  $r$ ,

$$Z(p^r) \equiv -2p^{r-1}B_{p-3} \pmod{p^r}. \tag{7}$$

Let  $n = 2$  or  $4$ ; for every positive integer  $r \geq n/2$  and prime  $p > n$ , Zhao [7] generalized (7) to

$$\sum_{\substack{i_1+i_2+\dots+i_n=p^r \\ i_1, i_2, \dots, i_n \in \mathcal{P}_p}} \frac{1}{i_1 i_2 \dots i_n} \equiv -\frac{n!}{n+1} p^r B_{p-n-1} \pmod{p^{r+1}}. \tag{8}$$

In 2017, Cai et al. [8] replaced the odd prime  $p$  in the summation and modulus with a product of two odd prime powers. For other related papers, see [9–11].

In 2022, Chern [12] established the generalization of the conjecture in [8].

We have seen that the sum of the subscript variables in the literature is an integer multiple of the modulus. Next, we are going to consider the case where the sum of the subscript variables is not an integer multiple of the modulus. When positive integer  $n < p$ , we have

$$Z(n) = \sum_{\substack{i+j+k=n \\ i, j, k \geq 1}} \frac{1}{ijk}. \tag{9}$$

In this paper, we consider the congruences about  $Z(\lfloor (p-1+N)/N \rfloor)$  (where  $\lfloor x \rfloor$  is the integral part of  $x$ ,  $N = 1, 2, 3, 4, 6$ ) modulo  $p^2$  and obtain the following theorems.

Let  $H_n(k)$  be defined by

$$H_0(k) = 0, \tag{10}$$

$$H_n(k) = \sum_{j=1}^n \frac{1}{j^k},$$

where  $H_n(1)$  is the  $n$ -th harmonic number  $H_n$ .

**Theorem 1.** Let  $n$  be a positive integer greater than 2. Then,

$$Z(n) = \frac{3}{n} (H_{n-1}^2 - H_{n-1}(2)). \tag{11}$$

**Theorem 2.** Let  $p$  be a prime greater than 5. Then,

$$Z(p) \equiv \frac{12B_{p-3}}{p-3} - \frac{3B_{2p-4}}{p-2} \pmod{p^2}, \tag{12}$$

and

$$Z\left(\frac{p+1}{2}\right) \equiv 24q_p^2(2) - p(24q_p^2(2) + 24q_p^3(2) + 14B_{p-3}) \pmod{p^2}, \tag{13}$$

where  $q_p(n) = (n^{p-1} - 1)/p$  is the Fermat quotient. More generally, we have

$$Z\left(\left\lfloor \frac{p+2}{3} \right\rfloor\right) \equiv \frac{18}{2p+3 + (p/3)} \left\{ \begin{array}{l} \frac{9}{4}q_p^2(3) + \frac{B_{2p-3}(\{-p/3\})}{2p-3} - 2\frac{B_{p-2}(\{-p/3\})}{p-2} \\ -p\left(\frac{9}{4}q_p^3(3) - \frac{q_p(3)}{2}\left(\frac{p}{3}\right)B_{p-2}\left(\frac{1}{3}\right) + \frac{2}{9}B_{p-3}\left(\frac{1}{3}\right)\right) \end{array} \right\} \pmod{p^2}, \tag{14}$$

where  $B_n(x)$  are the Bernoulli polynomials defined by

$$B_n(x) = \sum_{i=0}^n \binom{n}{i} B_i x^{n-i}, \quad n \geq 0, \tag{15}$$

and  $(\div)$  is the Legendre symbol and  $\{x\}$  is the fractional part of  $x$ .

From Theorem 2, we obtain

$$Z(p) \equiv -2B_{p-3} \pmod{p}, \tag{16}$$

and this is the result of (2), and

$$Z\left(\frac{p+1}{2}\right) \equiv 24q_p^2(2) \pmod{p}. \tag{17}$$

From Theorem 2, by Lemmas 6 and 7 (see Auxiliary Results), we also obtain

$$Z\left(\left[\frac{p+2}{3}\right]\right) \equiv \frac{18}{3+(p/3)} \left( \frac{9}{4}q_p^2(3) - \frac{1}{2} \left(\frac{p}{3}\right) B_{p-2} \left(\frac{1}{3}\right) \right) \pmod{p}. \tag{18}$$

**Theorem 3.** *Let  $p$  be a prime greater than 7. Then,*

$$Z\left(\left[\frac{p+3}{4}\right]\right) \equiv \frac{12}{p+2+(-1/p)} \left\{ \begin{array}{l} 9q_p^2(2) - \left(\frac{-1}{p}\right)(8E_{p-3} - 4E_{2p-4}) \\ -p \left( 9q_p^3(2) - 6q_p(2) \left(\frac{-1}{p}\right) E_{p-3} + \frac{14}{3} B_{p-3} \right) \end{array} \right\} \pmod{p^2}, \tag{19}$$

where  $E_n$  are Euler numbers defined by

$$\frac{2e^t}{e^{2t} + 1} = \sum_{n=0}^{\infty} E_n \frac{t^n}{n!} \left( |t| < \frac{\pi}{2} \right). \tag{20}$$

$$Z\left(\left[\frac{p+3}{4}\right]\right) \equiv \frac{12}{2+(-1/p)} \left( 9q_p^2(2) - \left(\frac{-1}{p}\right) 4E_{p-3} \right) \pmod{p}. \tag{21}$$

**Theorem 4.** *Let  $p$  be a prime greater than 11. Then,*

From Theorem 3, we obtain

$$Z\left(\left[\frac{p+5}{6}\right]\right) \equiv \frac{18}{p+3+2(p/3)} \cdot \left\{ \begin{array}{l} 4q_p^2(2) + 6q_p(2)q_p(3) + \frac{9}{4}q_p^2(3) + \frac{B_{2p-3}(\{-p/6\})}{2p-3} \\ -2 \frac{B_{p-2}(\{-p/6\})}{p-2} - p(4q_p^3(2) + 3q_p(2)q_p^2(3) + 3q_p^2(2)q_p(3)) \\ + \frac{9}{4}q_p^3(3) - \frac{4q_p(2) + 3q_p(3)}{12} \left(\frac{p}{3}\right) B_{p-2} \left(\frac{1}{6}\right) + \frac{1}{9} B_{p-3} \left(\frac{1}{6}\right) \end{array} \right\} \pmod{p^2}. \tag{22}$$

From Theorem 4, by Lemmas 6 and 7 (see Auxiliary Results), we obtain

$$Z\left(\left[\frac{p+5}{6}\right]\right) \equiv \frac{18}{3+2(p/3)} \left( 4q_p^2(2) + 6q_p(2)q_p(3) + \frac{9}{4}q_p^2(3) - \frac{(p/3)}{2} B_{p-2} \left(\frac{1}{6}\right) \right) \pmod{p}. \tag{23}$$

## 2. Auxiliary Results

**Lemma 5** (see [13, 14]). *Let  $p \geq 5$  be a prime and  $k \leq p - 4$  be a positive integer. Then,*

$$H_{p-1}(k) \equiv \begin{cases} \binom{k+1}{2} \frac{B_{p-2-k}}{p-2-k} p^2 \pmod{p^3}, & \text{if } k \text{ is odd,} \\ k \left( \frac{B_{2p-2-k}}{2p-2-k} - 2 \frac{B_{p-1-k}}{p-1-k} \right) p \pmod{p^3}, & \text{if } k \text{ is even.} \end{cases}$$

$$H_{\frac{p-1}{2}}(k) \equiv \begin{cases} (2^k - 2) \left( 2 \frac{B_{p-k}}{p-k} - \frac{B_{2p-1-k}}{2p-1-k} \right) \pmod{p^2}, & \text{if } k > 1 \text{ is odd,} \\ \frac{k(2^{k+1} - 1)}{2(k+1)} p B_{p-1-k} \pmod{p^2}, & \text{if } k \text{ is even,} \\ -2q_p(2) + pq_p^2(2) \pmod{p^2}, & \text{if } k = 1. \end{cases} \quad (24)$$

**Lemma 6** (see [15]). *Let  $n$  be a positive integer; then,*

$$\begin{aligned} B_{2n}\left(\frac{1}{3}\right) &= B_{2n}\left(\frac{2}{3}\right) \\ &= \frac{3 - 3^{2n}}{2 \cdot 3^{2n}} B_{2n}, \\ B_{2n}\left(\frac{1}{6}\right) &= B_{2n}\left(\frac{5}{6}\right) \\ &= \frac{(2 - 2^{2n})(3 - 3^{2n})}{2 \cdot 6^{2n}} B_{2n}. \end{aligned} \quad (25)$$

**Lemma 7** (see [15]). *Let  $p$  be an odd prime,  $x \in \mathbb{Z}_p$ , and  $k, b$  be positive integers with  $p - 1 \nmid b$ . Then,*

$$\begin{aligned} \frac{B_{k(p-1)+b}(x)}{k(p-1)+b} &\equiv \frac{B_b(x)}{b} \pmod{p}, \\ B_b(1-x) &= (-1)^b B_b(x), \quad (b \geq 2). \end{aligned} \quad (26)$$

**Lemma 8** (see [16]). *Let  $p$  be a prime greater than 5. Then,*

$$\begin{aligned} H_{[p/3]} &\equiv -\frac{3}{2}q_p(3) + p\left(\frac{3}{4}q_p^2(3) - \frac{1}{30}\left(\frac{p}{3}\right)B_{p-2}\left(\frac{1}{6}\right)\right) \pmod{p^2}, \\ H_{[p/3]}(2) &\equiv -\frac{B_{2p-3}(\{-p/3\})}{2p-3} + 2\frac{B_{p-2}(\{-p/3\})}{p-2} + \frac{2p}{9}B_{p-3}\left(\left\{\frac{-p}{3}\right\}\right) \pmod{p^2}. \end{aligned} \quad (27)$$

**Lemma 9** (see [16]). *Let  $p$  be a prime greater than 5. Then,*

$$\begin{aligned} H_{[p/4]} &\equiv -3q_p(2) + p\left(\frac{3}{2}q_p^2(2) - (-1)^{(p-1)/2}E_{p-3}\right) \pmod{p^2}, \\ H_{[p/4]}(2) &\equiv (-1)^{(p-1)/2}(8E_{p-3} - 4E_{2p-4}) + \frac{14}{3}pB_{p-3} \pmod{p^2}. \end{aligned} \quad (28)$$

**Lemma 10** (see [16]). *Let  $p$  be a prime greater than 5. Then,*

$$\begin{aligned}
 H\left[\frac{p}{6}\right] &\equiv -2q_p(2) - \frac{3}{2}q_p(3) + p\left(q_p^2(2) + \frac{3}{4}q_p^2(3) - \frac{1}{12}\left(\frac{p}{3}\right)B_{p-2}\left(\frac{1}{6}\right)\right) \pmod{p^2}, \\
 H\left[\frac{p}{6}\right](2) &\equiv -\frac{B_{2p-3}(\{-p/6\})}{2p-3} + 2\frac{B_{p-2}(\{-p/6\})}{p-2} + \frac{p}{9}B_{p-3}\left(\left\{\frac{-p}{6}\right\}\right) \pmod{p^2}.
 \end{aligned}
 \tag{29}$$

### 3. Proofs

#### 3.1. Proof of Theorem 1

*Proof.* By symmetry, we have

$$\begin{aligned}
 Z(n) &= \sum_{\substack{i+j+k=n \\ i,j,k \geq 1}} \frac{1}{ijk} \\
 &= \frac{1}{n} \sum_{\substack{i+j+k=n \\ i,j,k \geq 1}} \frac{i+j+k}{ijk} \\
 &= \frac{3}{n} \sum_{\substack{i+j+k=n \\ i,j,k \geq 1}} \frac{1}{ij} \\
 &= \frac{3}{n} \sum_{\substack{i+j+k=n \\ i,j,k \geq 1}} \frac{i+j}{ij(i+j)} \\
 &= \frac{6}{n} \sum_{\substack{i+j+k=n \\ i,j,k \geq 1}} \frac{1}{i(i+j)}.
 \end{aligned}
 \tag{30}$$

Let  $i + j = u$  in (30), and we get

$$\begin{aligned}
 Z(n) &= \frac{6}{n} \sum_{1 \leq i < u \leq n-1} \frac{1}{iu} = \frac{3}{n} \left( \left( \sum_{i=1}^{n-1} \frac{1}{i} \right)^2 - \sum_{i=1}^{n-1} \frac{1}{i^2} \right) \\
 &= \frac{3}{n} (H_{n-1}^2 - H_{n-1}(2)).
 \end{aligned}
 \tag{31}$$

Thus, we obtain Theorem 1.

Next, we consider the congruences about  $Z([(p-1+N)/N])$  ( $N = 1, 2, 3, 4, 6$ ) modulo  $p^2$ .  $\square$

#### 3.2. Proof of Theorem 2

*Proof.* For  $N = 1$ , by Theorem 1 and Lemma 5, we have

$$\begin{aligned}
 Z(p) &= \frac{3}{p} (H_{p-1}^2 - H_{p-1}(2)) \\
 &\equiv \frac{12B_{p-3}}{p-3} - \frac{3B_{2p-4}}{p-2} \pmod{p^2}.
 \end{aligned}
 \tag{32}$$

This is the result of (6). For  $N = 2$ , by Theorem 1 and Lemma 5, we have

$$\begin{aligned}
 Z\left(\frac{p+1}{2}\right) &= \frac{6}{p+1} (H_{(p-1)/2}^2 - H_{(p-1)/2}(2)) \\
 &\equiv 6(1-p) \left( (-2q_p(2) + pq_p^2(2))^2 - \frac{7}{3}pB_{p-3} \right) \\
 &\equiv 24q_p^2(2) - p(24q_p^2(2) + 24q_p^3(2) + 14B_{p-3}) \pmod{p^2}.
 \end{aligned}
 \tag{33}$$

For  $N = 3$ ,  $[(p + 2)/3] = (2p + 3 + (p/3))/6$ , by Theorem 1 and Lemma 8, we have

$$\begin{aligned}
 Z\left(\left[\frac{p+2}{3}\right]\right) &= Z\left(\left[\frac{p}{3}\right] + 1\right) = \frac{18}{2p + 3 + (p/3)} \left(H_{[p/3]}^2 - H_{[p/3]}(2)\right) \\
 &\equiv \frac{18}{2p + 3 + (p/3)} \left\{ \begin{aligned} &\left(-\frac{3}{2}q_p(3) + p\left(\frac{3}{4}q_p^2(3) - \frac{1}{30}\left(\frac{p}{3}\right)B_{p-2}\left(\frac{1}{6}\right)\right)\right)^2 \\ &- \left(-\frac{B_{2p-3}(\{-p/3\})}{2p-3} + 2\frac{B_{p-2}(\{-p/3\})}{p-2} + \frac{2p}{9}B_{p-3}\left(\left\{\frac{-p}{3}\right\}\right)\right) \end{aligned} \right\} \pmod{p^2}.
 \end{aligned} \tag{34}$$

Since  $B_{p-2}(1/6) = 5B_{p-2}(1/3)$  (see [16]) and by Lemma 6 in (34), we have

$$\begin{aligned}
 Z\left(\left[\frac{p+2}{3}\right]\right) &\equiv \frac{18}{2p + 3 + (p/3)} \left\{ \begin{aligned} &\frac{9}{4}q_p^2(3) + \frac{B_{2p-3}(\{-p/3\})}{2p-3} - 2\frac{B_{p-2}(\{-p/3\})}{p-2} \\ &- p\left(\frac{9}{4}q_p^3(3) - \frac{q_p(3)}{2}\left(\frac{p}{3}\right)B_{p-2}\left(\frac{1}{3}\right) + \frac{2}{9}B_{p-3}\left(\frac{1}{3}\right)\right) \end{aligned} \right\} \pmod{p^2}.
 \end{aligned} \tag{35}$$

Thus, we obtain Theorem 2.  $\square$

### 3.3. Proof of Theorem 3

*Proof.* For  $N = 4$ ,  $[(p + 3)/4] = (p + 2 + (-1/p))/4$ , by Theorem 1 and Lemma 9, we have

$$\begin{aligned}
 Z\left(\left[\frac{p+3}{4}\right]\right) &= Z\left(\left[\frac{p}{4}\right] + 1\right) = \frac{12}{p + 2 + (-1/p)} \left(H_{[p/4]}^2 - H_{[p/4]}(2)\right) \\
 &\equiv \frac{12}{p + 2 + (-1/p)} \left\{ \begin{aligned} &\left(-3q_p(2) + p\left(\frac{3}{2}q_p^2(2) - (-1)^{(p-1)/2}E_{p-3}\right)\right)^2 \\ &- (-1)^{(p-1)/2}\left(8E_{p-3} - 4E_{2p-4}\right) - \frac{14}{3}pB_{p-3} \end{aligned} \right\} \\
 &\equiv \frac{12}{p + 2 + (-1/p)} \left\{ \begin{aligned} &9q_p^2(2) - \left(\frac{-1}{p}\right)\left(8E_{p-3} - 4E_{2p-4}\right) \\ &- p\left(9q_p^3(2) - 6q_p(2)\left(\frac{-1}{p}\right)E_{p-3} + \frac{14}{3}B_{p-3}\right) \end{aligned} \right\} \pmod{p^2}.
 \end{aligned} \tag{36}$$

Thus, we obtain Theorem 3.  $\square$

3.4. Proof of Theorem 4

*Proof.* For  $N = 6$ ,  $[(p + 5)/6] = (p + 3 + 2(p/3))/6$ , by Theorem 1 and Lemma 10, we have

$$\begin{aligned}
 Z\left(\left[\frac{p+5}{6}\right]\right) &= Z\left(\left[\frac{p}{6}\right] + 1\right) = \frac{18}{p+3+2(p/3)} \left( H_{[p/6]}^2 - H_{[p/6]}(2) \right) \\
 &\equiv \frac{18}{p+3+2(p/3)} \left\{ \begin{aligned} &\left( -2q_p(2) - \frac{3}{2}q_p(3) + p\left( q_p^2(2) + \frac{3}{4}q_p^2(3) - \frac{1}{12}\left(\frac{p}{3}\right)B_{p-2}\left(\frac{1}{6}\right) \right) \right)^2 \\ &- \left( -\frac{B_{2p-3}(\{-p/6\})}{2p-3} + 2\frac{B_{p-2}(\{-p/6\})}{p-2} + \frac{p}{9}B_{p-3}\left(\left\{\frac{-p}{6}\right\}\right) \right) \end{aligned} \right\} \\
 &\equiv \frac{18}{p+3+2(p/3)} \left[ \begin{aligned} &4q_p^2(2) + 6q_p(2)q_p(3) + \frac{9}{4}q_p^2(3) + \frac{B_{2p-3}(\{-p/6\})}{2p-3} \\ &- 2\frac{B_{p-2}(\{-p/6\})}{p-2} - p(4q_p^3(2) + 3q_p(2)q_p^2(3) + 3q_p^2(2)q_p(3)) \pmod{p^2}. \\ &+ \frac{9}{4}q_p^3(3) - \frac{4q_p(2) + 3q_p(3)}{12}\left(\frac{p}{3}\right)B_{p-2}\left(\frac{1}{6}\right) + \frac{1}{9}B_{p-3}\left(\frac{1}{6}\right) \end{aligned} \right]
 \end{aligned} \tag{37}$$

Thus, we obtain Theorem 4. □

**Data Availability**

The data used to support the findings of this study are included within the article.

**Conflicts of Interest**

The author declares that there are no conflicts of interest.

**Acknowledgments**

This study was supported by the National Natural Science Foundation of China (Project No. 12071421).

**References**

[1] J. Zhao, "Multiple harmonic series I: Generalizations of Wolstenholmes theorem, preprint," 2003, <https://arxiv.org/abs/math/0301252>.  
 [2] J. Zhao, "Bernoulli numbers, Wolstenholmes theorem, and  $p^5$  variations of Lucas theorem," *Journal of Number Theory*, vol. 123, no. 1, pp. 18–26, 2007.  
 [3] C. G. Ji, "A simple proof of a curious congruence by Zhao," *Proceedings of the American Mathematical Society*, vol. 133, no. 12, pp. 3469–3472, 2005.

[4] X. Zhou and T. X. Cai, "A generalization of a curious congruence on harmonic sums," *Proceedings of the American Mathematical Society*, vol. 135, no. 5, pp. 1329–1333, 2006.  
 [5] B. Z. Xia and T. X. Cai, "Bernoulli numbers and congruences for harmonic sums," *International Journal of Number Theory*, vol. 06, no. 04, pp. 849–855, 2010.  
 [6] L. Q. Wang and T. X. Cai, "A curious congruence modulo prime powers," *Journal of Number Theory*, vol. 144, pp. 15–24, 2014.  
 [7] J. Zhao, "Some congruences related to finite multiple zeta values," *Analysis, Geometry and Number Theory*, pp. 59–75, 2017, <https://arxiv.org/abs/1404.3549>.  
 [8] T. Cai, Z. Shen, and L. Jia, "A congruence involving harmonic sums modulo  $p^\alpha q^\beta$ ," *International Journal of Number Theory*, vol. 13, no. 05, pp. 1083–1094, 2017.  
 [9] M. McCoy, K. Thielen, L. Wang, and J. Zhao, "A family of super congruences involving multiple harmonic sums," *International Journal of Number Theory*, vol. 13, no. 1, pp. 109–128, 2017.  
 [10] Z. Shen and T. Cai, "Congruences involving alternating harmonic sums modulo  $p^\alpha q^\beta$ ," *Mathematica Slovaca*, vol. 68, no. 5, pp. 975–980, 2018.  
 [11] L. Wang, "A new curious congruence involving multiple harmonic sums," *Journal of Number Theory*, vol. 154, pp. 16–31, 2015.  
 [12] S. Chern, "On a congruence involving harmonic series and Bernoulli numbers," *International Journal of Number Theory*, vol. 18, no. 8, pp. 1691–1712, 2022.

- [13] E. Lehmer, "On congruences involving Bernoulli numbers and the quotients of Fermat and Wilson," *Annals of Mathematics*, vol. 39, no. 2, pp. 350–360, 1938.
- [14] Z. H. Sun, "Congruences concerning Bernoulli numbers and Bernoulli polynomials," *Discrete Applied Mathematics*, vol. 105, no. 1-3, pp. 193–223, 2000.
- [15] W. Magnus, F. Oberhettinger, and R. Soni, *Formulas and Theorems for the Special Functions of Mathematical Physics*, Springer Science Business Media, Berlin, Germany, 2013.
- [16] Z. H. Sun, "Congruences involving Bernoulli and Euler numbers," *Journal of Number Theory*, vol. 128, no. 2, pp. 280–312, 2008.